10

1.0

Ratio

[y
TTT T[T T

0.5

ulPt
Std Dev 1.456
Constant 0.0697
Mean —-0.04195
‘Lsigma 1.061
D
Std Dev
Constant
Mean

Sigma

Constant 0.06975
ean 0.02826

Std Dev
Constant

-10 -8 -6

=
o

[ pull of goverp parameter |

Ratio

ufoover,
Std Dev 1.514
Constant 0.07054
Mean 0.00808
Sigma 1.065
pullooverp
Std Dev 1.513
Constant 0.06952
Mean -0.01948

Sigma

Std Dev
Constant
e

Constant

1.086

1.511
0.06968
-0.01435

0.06918
-0.01712
9

pultPhT
Std Dev

107}

1072

10° kgt

Ratio

Constant
Mean
Sigma

pullPhi
Std Dev
Constant
Mean
Sigma

1.43
0.06678
-0.02254
1139

Constant 0.0664
Mean -0.02134
Sigma 14

107}

1072

Ratio

Std Dev 1.464
Constant 0.06977
Mean 0.01916
‘LSigma 1.045|
pullDxy
Std Dev 1.486
Constant 0.06762
Mean 0.03207
Sigma

St
Constant

pullTheta

Std Dev 1.484
N N . . . | Constant 0.06315
| . : bt Mean -0.0002141
o : | Sigma 1.155
E . . . pullTheta
L . . .| Std Dev
: : : | Constant
o . . Mean
B B Sigma
-2 .
10°E
F 1425
N . 0.06457
I . -0.03016
4
-3
... 1427
10 = Constant 0.06396
F —-0.02248
T BN L L R A S
107°E
o
3= F
A
@ [
0.5
-10 -8

107}

1072

Std Dev 1.982
Constant 0.06043
Mean -0.02943

1.156

‘LSigma

Constant
Mean

pullDz
Std Dev 1.736

Constant
Mean
Sigma

Ratio
=

0.5

0.06184
0.01509
1181 ]




	Contents
	Page 1


